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@g&ég & 82Q0h

The product of two positive numbers is 11520
and their quotient is 9/5. Find the difference
of two numbers.

8o § Dogge 00 11520. o8 grisdeo
9/5. ®@and 3ok Logge BBo do&?

1) 60 2) 64 3)74 4)70

The smallest number by which 243000 be
divided so that the quotient is a perfect cube
is.

243000 5 & 8K Sopgs gAY, 08 P
0800 ©95)e00H?

1)3 2)7 3)9 4)1

(25" + 292 4 2% + 2% + 2%) is divisible by.
(25" + 2% + 2% 4+ 2% + 2%) 32
GPA0NLEIB0H?

1)23 2) 58 3)124  4)127
Find the largest number, which exactly divides
every number of the form (n*-n) (n-2) where
n is a natural number greater than 2.

n o386 2 808 Qé)grzé Qend Ko dres éosp?g
©ondH® (n°-n) (n-2) SrHos® ¢od ($&
Doggd ePAOD K88 Ko d6?

1)6 2) 12 3)24 4) 48

380 mangoes are distributed among some
boys and girls who are 85 in number. Each
boy gets four mangoes and each girl gets five.
The number of boys is.

o8& Hod ©eT00eD, ADS B @mécmep

8O Ao 85 Hhod Bodh aEoRnds 380
L8 HoEd HoVB, (H8 o8 4, (8
o008 5 FHP Hory Seow. werpone
oy dod?
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1)15 2) 38 3) 40 4) 45

In an office, there are 108 tables and 132
chairs. If 1/6 of the tables and 1/4 of the chairs
are broken. How many people can work in
the office if each person requires one table
and one chair.

a8 wbHs® 108Taoy, 132 S SoP.
B 1/6 Hokh Egeaaéag, 1/4 S0 é)éz)oa
SAOREcIrow. epins® ($8 a&%A8, Bas, H8)
©5580. wand wHiHs® B D esdyoe
Qdogyg Jod?

1) 86 2)90  3)92

The square root 0f33 - 4 /35 is.

4)90

33 -4 35 &¥) SE5re0 dod?

1) #(247 +5) 2) £(v7+245)

3) +(v7-245) 4)£(27 -5)

8

What is the HCF of Y

B

IRV
oo | o

8

’25

oo | o

5
I B ez Does?

1 ! !

|
D3 Do I20 P50

The greatest 4 - digit namber exactly divis-
ible by 10, 15, 20 is.

10, 15, 20 o3 grhoHE 4 @08 ﬁ&?& éogp?g
d6?

1)9990  2)9960 3)9980 4)9995
The average age of 24 students is 15.5 years.
The teacher's age is 24 years more than the
average age of all students and the teacher.
What is the age of teacher (in years).

24 S)wf’?gé(gez Qe HoY) 24.4 Ko. S)m?gé(ge»

CHAITANYAPURI, HYDERABAD




UNIQUE STUDY CIRCLE, CHAITANYAPURI, HYDERABAD. Ph: 9492459622

I1.

12.

13.

5085w B35 ©oisd Bien SaHiy) So& &6
$aHdy) 24 Bo. NS wowd B3E Sy

Qoes?

1) 40 2)42 3)40.5 4)41.4

In class of 40 students, 60% are girls. The
average of the girl's marks is 72 and that of
the boys is 54. What are the average marks
ofthe whole class.

40 008 Doegens Ko S8KBSE° 60% DregByen
@Eéov&ooae». &9263*3030@ ISYafes) 26306027@ 72.
92T 000 FSTaloh) 563*3632:@ 54. ©@ond 8158 Hiien

Qoes?

1)654  2)65 3)64.8 4)65.2
Average of 'n' numbers is a. The first number
is increased by 2, second one is increased by
4. the third one is increased by 8 and so on.
The average of the new numbers is.

n Sogye ¢ a oMl Qdogy 2, BoED Koy
4, o8N Dogyg 8 PR 2BHERDE (S
33603&5 Sogge drien dod?

n—1 n
1) a+2 -1 2) a+22 ~1
n
3) a+ 271 4) a+ 221
n
Find the sum of

Qend Jo&?
1
3) (n+1) 4) %(n 1)
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14.

15.

16.

17.

18.

19.

If3x+4y-11=18 and 8x - 6y + 12 =6,
then what is the vlaue of 5x - 3y -9 ?
3x+4y-11=18,8x -6y + 12 =6, waw
5x -3y - 9 e dos?

1)18 2)-9 3)-27  4)-18
What is the equation of the line whose y-in-
tercept is -3/4 and making

X- @éoé‘s cémééé 838° 45° %0 3@ TP
-3/4 e Ko By D&?

1)4x-4y=3 2)4x -4y =-3
3)3x-3y=4 4)3x-3y=-4

If x is real, then the minimum value of (x* -
x+1)is.

n 9% Sogy wondHE (X° - xt+1) DwE)
53} Dend dod?

1)3/4 2)0 3)1 4)1/4
Ifx* - y*=80 and x - y= 8, then the average
ofxand yis.

x*-y* =80, x - y = 8wond X, y © dKen
Qoes?

1)2 2)3 3)4 4)5
Neha's weight is 140% of Tina's weight.
Mina's weight is 90% of Lina's weight. Lina
weighs twice as much as Tina. If Neha's
weight 1s X% of Mina's weight, then x is equal
to.

I 2, e aHHS® 140%, Do 2859,
D 2598 90% D 2, deoe 2
B&oDH I ), Do 2HSE x% wand X
Qend o&?

7

2 4
64— 77— 128—
D64 2) 775 3) 90 4) 128

The difference between 38% of'a number and

22% of anumber and 22% of'that number is

CHAITANYAPURI, HYDERABAD
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20.

21.

22.

23.

3200. What will be the value of 1 5%% ofthat

number.

2.8 Soggd® 38%, 22% dende B 3200.
1
oS & éogpegé‘s 155% Qend do&?

1) 2800 2) 3100

3) 3000 4) 3200

In an office, 40% of'the staff'is female. 70%
ofthe female staff and 50% ofthe male staff
are married. The percentage of the unmar-
ried staft in the office is.

o8 whos® 40% a&iben Qen, 70%
éﬁséﬁae», 50% HBR é&s?gﬁaoéa Qaesro
2008, @ond HYS éﬁsegﬁaez S0 NOo&?
1) 64 2) 60 3) 54 4) 42

A person sells 400 mangoes at the cost price
of320 mangoes. His percentage ofloss is.
28 558 400 SrRE HogEo 320 FWE HoK
SN o] @26313633. @0o0d S é{é@%éo 0s?
1)10%  2)15% 3)20% 4)25%
The prices of two articles are in the ratio 4 :
5. If the price of the first article is increased
by x% and that of the other 1s decreased by
30% then the new prices of A and B will be in
the ratio 10 : 7. The value ofx is.

Both $RHe BB AYB 4 : 5. IS $0D
88 X% 0R, Bokd I1H $8 30% /S,
O & o QB 10 : 7. @ond X endd
Qoes?

1)245 2)225 3)25 4)20

A man bought a horse and a carriage for Rs.
40,000. He sold the horse at a gain of 10%

and the carriage at a loss of 5%. He gained

UNIQUE STUDY CIRCLE
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24.

25.

26.

1% on his whole transaction. The cost price
of'the horse was.
a8 B8 DR, HESH o8 E0D 40,000/

—0% Rt D, ) 10% ePo&®,
20083 5%26@055 O, DB 1% ergfo

o, o Ho &) I Jos?

1) Rs. 15000 2) Rs. 16000

3) Rs. 18000 4) Rs. 20000

A tradesman gives 4% discount on the
marked price and gives 1 article free for buy-
ing every 15 articles and thus gains 35%. The
marked price is increased above the cost
price by.

2.8 TEr0 (HELS 0P 4% crond adr, (&

15 SxoHes 1 ShHd edsor sk, 35%
ergfo Pomreod, (HELYS Io %) I go8s

Qo B0 wHBorT InBowed?

1)40%  2)39% 3)50% 4)20%

A shopkeeper gains Rs. 56 on a toy after al-
lowing 23% discount on its marked price. If
his gain is 10%, then the marked price of the
toy is.

&y @808 J0p 23% Trand aQ)KH)BS,
56 8. erdio VPomedd. @ eyl e&so 10%
®o0I &7y (HBLS o d0d?

1)Rs. 810 2) Rs. 800
3)Rs. 560 4) Rs. 740

41 .. .1
A sum of money becomes 0 of itself in 2

years at a certain rate of simple interest. The

rate of interest per annumis.

41

1
&o¢ eden aavéozéc‘é (dse80 1 %o.o¢® 0

By ©H%08. @wand $EDen Jod?
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27.

28.

29.

30.

1)10%  2)1%  3)2.5% 4)5%

The amount Rs. 2,100 became Rs. 2,352 in
2 years at simple interest. [fthe interest rate
is decreased by 1%, what is the new interest.

2100 @den erthsé @sedo 2 So.08° 2352
Forr @B, $EV 1% SAE SEr $i)

58 Dos?
1)Rs. 210 2)Rs. 220
3)Rs. 242 4)Rs. 252

A sumofRs. 15,000 is invested partly at 12%
per annum and the remaining at 10% per an-
num simple interest. Ifthe total interest at the
end of 2 years is Rs. 3,344 how much money
was invested at 10% per annum.

15000/~ ©&* &8 grred) 12% $60¢ns®, Bos
gereR) 10% $EBend® espre &) 2 o, Sows
53y Imwo $& 3344/- wans 10% $ESens®
PP B ©den JoB?

1)Rs. 6,200 2)Rs. 6,600

3) Rs. 6,400 4) Rs. 6,500

. . oAl
The compound interest on a certainsum in 25

years at 10% p.a.interest compounded yearly,
iSRs. 1,623. The sum is.

1
08 R 10% SE8E Sews®, 2- Ko 08"

JINS H& 1623 @ond @den Jod?

1) Rs. 5,000 2) Rs. 6,000

3) Rs. 6,500 4) Rs. 7,200

What is the rate of interest (in %) if simple
nterest earned ona certain sum for the 3 years
is Rs. 6,000 and compound interest earned
for 2 years is Rs. 4,160 ?

08 @den 3 Ho. FowE Hi) BEESE 6000

UNIQUE STUDY CIRCLE
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31.

32.

33.

34.

2 So. Sox® $7) SE 4160. wowd HESen

Qoes?

19 2)8 3)12 4)6

The compound interest amount on a certain
sum at a certain rate percentage p.a. for the
second year and third year Rs. 3,300 and Rs.

3,630, respectively. What is the amount of

. 1
the same sum at the same rate in 25 years,

interest compounded yearly.
E08 oy P 28 Do, DIGY, 38 Do, VIS

53y BlESGen $Sre 3300, 3630. ©F Iy
1
03 $E0E° 2 o.08" SE5E B0 dod

SEore ©9H&Eoh?

1)Rs. 37,215 2) Rs. 36,300
3)Rs. 38,115 4) Rs. 36,000
If(x*-y"): (x®*+xy+y?)=5:1and (x*-y2)
: (x-y)=7: 1, then the ratio 2x : 3y equals.
X-y): (P +xy+y)=5:1 bk (x*-
y2) 1 (x-y)=7:1 ®ond 2x : 3y Qog?
4:1 2)2:3 3)4:3 4)3:2
A fruit seller sold big, medium and small sized
apples for Rs. 15, Rs. 10 and Rs. 5 respec-
tively. The total number of apples sold were
inthe ratio 3 : 2 : 5. Find the averge cost of
an apple.

Soth) Ssee 89) Qogyg e 3 1 2 1 5.
T8 PBen SKHde 15 Se., 10 Se., 5 &,
oS T Jifen B Dosk?

I)Rs.8 2)Rs. 10 3)Rs.9 4)Rs.7
Dheeraj distributes his whole property among
his wife, his three sons, two daughters and 5

grand sons such that each son or one tenth
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35.

36.

of'that of each daughter. His wife gets 40%
of'that of'the total amount get by his sons and
daughter. If each daughter received property
of 1.25 lakh then what is the value of prop-
erly received by his wife and three grandson.
BES 85 @ Tz Yy Dot D,
acgéa &y 0trHdd 25)26@%@9, S0 DoTD.
B8 558 8, (HO HEr6s averet 1/8,
N @’Jé Srd aeers® 1/10. gy Toer,

Erehd) $B0SH HEFHe Indo ere® 40%
e artr 1.25 eoFen. ®ond a5°6§ pvvlalensy)

Q0P odaeEy Iwdo aer Jos?

1) 32,500

2)2,57,500

3)2,82,500

4)Cannot be determined

Three vessels whose capacitiesare 3:2: 1
are completely filled with milk mixed with
water. The ratio of milk and water inthe mix-
ture of vesselsare 5:2,4:1and 4 : 1 re-
spectively. Taking 1/3 of first 1/2 of second
and 1/7 of third mixtures, a new mixture kept
in a new vessel is prepared. The percentage
of water in the new mixture is.

Lortd PP FoeeNddrero R 3 21 ©
PSS o, ﬁ)?‘%}é& e AQPB SBodre 5
12, 4:1,4: 13088 arEg Ho& 1/3 BokS
FE Sood 1/2 Hordd & ol 1/7
DFSreD BHEY 8 B Seosm TS
& %0 Jos?

1)28 2)32  3)30  4)24

. T
Aliquid 'P' is 17 times as heavy as water and

.2 .
water is 1§ times as heavy as another liquid

UNIQUE STUDY CIRCLE
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37.

38.

'Q'". The amount of liquid 'P' that must be
added to 7 litres of the liquid 'Q' so that the
mixture may weight as muxh as an equal vol-

ume of water, will be.

P o3 [@ede0 2t B 2 1% Bep IS

255, Q o3 [ESe0 2HHH HB 2% 1%

3. 7 D Q Eredd P [mesdeso dod E903
Boh ([ederes® HB Hosrmo 28 dFore

€000l ?

1
1) 7 litres 2) SE litres

2
3) 5 litres 4) 45 litres

The current ages of sonali and Monali are in
theratio 5 : 3. Five years fromnow, their ages
will be in the ratio 10 : 7. Then, Monali's cur-
rent age is.

RETY, Trrd (Hrad SoHKYe QB 5:3. 5
Q0. SoxE a8 Scbde PG, 10 : 7 Jo°O
(8 S0 DoE?
1) 5 years 2) 3 years
3) 9 years 4) 15 years

A, B and C invested their capitals in the ratio
of2:3:5. The ratio of months for which A,
B and Cinvestedis4: 2 : 3. If C gets a share
ofprofit which is Rs. 1,47,000 more than that
of A, then B's share inthe profit is.

A, B, C 2epaidoeo 3@ 2: 3: 5 a0 Depard
sero ARG 4 1 2 : 3. orgod® C arer, A
aeer Bod 1,47,000 dEpd. wowd B aeer

dods?
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39.

40.

41.

1) Rs. 1,26,000 2)Rs. 1, 68, 000

3) Rs. 1,05,000 4) Rs. 1,89,000
Three partners A, B, and C share in profit
and loss inthe ratio 3 : 4 : 7. Ifbefor chargaing
30% tax, the profit of the year i1s Rs.110166
then what is the share of B after charging the
tax.

A, B, C v ergrod Soo Sapods 8: 4 : 7
AYES® BoBotrds. ok 30% &ms8)
DO, Do, SoxE Ingo ergfo 110166 ex%8)

BYoSe HADS A’ B arer dod?

1) Rs. 24,673.10 2)Rs. 31,476

3) Rs. 9,442.80 4)Rs. 22,033.20

A, B, and C enter into a partnership by in-

()

| N

. . . . . 5
vesting their capitals in the ratio of 3

N

After 4 months, A increased his capital by
50%, but B decreased his capital by 20%.
What is the share of B in the total profit of
Rs. 2,82,100 at the end of a year.

()

o | i

2
A, B, C egeatho 38 gi 4 Joo STRG

N

AB50% egad Bosm B o8 dthabos® 20%
SNoTeh. Iwdo orgfo 2,82,100 &° B arere
o5 ?

1) Rs. 97,500 2)Rs. 1,01,400

3) Rs. 1,00,750 4) Rs. 83,200

Two workers A and B working together com-
pleted a job in 5 days. If A worked twice as
efficiently as he actually did and B worked 1/
3 as efficiently as he actually did, the work
would have been completed in 3 days. To

complete the job alone. A would require.

UNIQUE STUDY CIRCLE
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42.

43.

44,

A, Beo 0% a8 $29 5 &%erd® Irh. A 85
.3"253{:5;3& 380 3, B &% 5"&)??3065 1/3
Hod Fngsod® B TY vyt LR 3 Ferd
HQ 8 BB wond A eotdre & HAY
Y. S Bodhites.

1 1
1) 5; days 2) 6Z days

1 3
3) 75 days 4) SZ days

Some carpenters promised to do a job in 9
days but 5 of them were absent and remain-
ing men did the job in 12 days. The original
number os carpenters was.

§°08 HH0b B TS ol HIQ 9 Seres?t

B, T8t nHihd e SEESK0
S8 & HY 12 &lered PG 005086. B0t5ed FCIGH

PEIH0RS HEe Yoy dod?

1)24 2) 20 3)16 4) 18

If 1 man or 2 women or 3 boys can complete
a piece of work in 88 days, then 1 men, 1
woman and 1 boy together will complete it
mn.

1 HBHE S 2 @e:o S 3 2THOVeD a8
HAD 88 8%’ Bahriodh. wond o7 HIJ 1
DD, 1 R, 1 oeon 500 ) SPerd®
Sohiketn?

1) 36 days 2) 42 days

3) 48 days 4) 54 days

A pump can fill a tank with water in 2 hours.

. . . 1
Because of a leak inthe tank it was taking 23

hourse to fill the tank. The leak can drain all
the water offo the tank in.
a8 2 5o 2 Koers® Doied. HEe
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45.

46.

47.

1
0oy Hod ©d 25 Kotrost QoHKOL. eond

Q0B ergoty D8 o8 grd Tkod?
1) 8 hours 2) 7 hours

1
3) 43 hours 4) 14 hours

A monkey can climb on a round pillar whose
height is 21 m, 6 metre in one minute, but in
next minutes 3 metre. How much time,
moneky will take to reach the top of pillar.
2.8 858 21 Devs KD Ko Qogry I8, Eos®

St A0 6 D&t 8 DAY, BoKD AR
Kot Qoeatsy (Bob8 erddod. I8 H$oged)

Do o’ @é&ﬁ@iﬁa?
1) 10 min
3) 12 min

2) 11 min

4) 13 min

A man starts from a place P and reches the
place Q in 7 hours. He travels 1/4 th of the
distance at 10 km/hr and the remaining dis-
tance at 12 km/hr. The distance between P
and Qis.

a8 &8 P o3 o Dok Q L8 7

Koteod® S, s 1/4 Hok ooy 10
8.8 /0. SK5o8®, WADS GroeRy 12 8.5./

Ko, S8 Buirdomrid. wand P, Q © iy
&80 Nog?

1) 72 km 2) 90 km

3) 80 km 4) 70 km

A train passes a man standing ona platform in
8 seconds and also crosses the platform which
is 264 metres long in 20 seconds. The length
of'the train (in metres) is.

a8 Ben 264 s RSN Ko 53PS Frod 20
836°, TP 6 H8 8 EZS® B Bew

UNIQUE STUDY CIRCLE

8

48.

49.

50.

FPED do&?

1) 188 2)176  3)175 4)96

A hall 25 metres long and 15 metres broad is
surrounded by a verandah of ujiform width
of3.5 metres. The cost of flooring the veran-
dah, at Rs. 27.50 per square metre is.

25 &oers KD, 15 e Sdeny Ko éoo

Her aohd JH 3.5 oy Sgen&® w0
ScsnerBd SBBD et 27.50/- FDHPS Indo

Do LY ©HE0L?

1) Rs. 9149.50 2) Rs. 8146.50

3) Rs. 9047.50 4)rs. 4186.50

The circumference of a triangle is 24 cm and

the circumference of'its in - circle is 44 cm.

22
Then the area of the triangle is (taking 7 = El )

(Beweso SepSod 24 20.8. T ©osS DY
ey Sod 44 20.8. wowd Bghe FToeg0
Do&?

1) 56 sq cm
3)48 sq. cm

A solid metallic sphere of radius 8 cm is melted

2) 84 sq. cm
4) 68 sq. cm

to form 64 equal small solid spheres. The ra-
tio of the surface area of this sphere to that of
a small sphere is.

8 20.. 500 Ko Poeaityod 6A0D), 64

JBrS HBHr@mo Ko DY) Ferody ScSrdH
Beedd. ©and DF DY Fgre 608 STYOLO

QB do&?

1)4:1 2)1:16 3)16:1 4)1:4

Direction (51-52) : Five friends Pavan, Kiran,

Ramesh, Siva and Tarun are using Five dif-
ferent cars such as Maruthi, Kia, Hundai, MG
and Honda and they are is different colours
like White, Red, Black, Green and Blue but
not in the same order. Pavan has Honda but

CHAITANYAPURI, HYDERABAD
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Direction (56-58) : Eight Persons P, Q, R, S, T,

51.

52.

Direction (53-54) : Complete the following series.
5% (53-54) : & (8od BQ)S (BB FPEBH0Em.
53.

54.

55.

not in green colour. Kiran has Red MG Car.
Tarun has Black Colour car but it is neither
Kia nor Hundai. Ramesh has a Blue colour
Car but not Maruthi. Those who have green
colour car using Kia.

5 K% _(50&35"9‘_30@) DB, 88, Bah%, 85 L0850
HHen AL Bondew ®and s, 8asw,
008D, A0 HBAN TRTOTR, SE OA &
0GR, BN B Bens), VB, Je0Y, BBHY)
$0805% deo oot soBd 500 58508
BErodPsetn. HE8, Trome S EOA GoGHD
50 ©b eHBHBord 5. 886 DD Sord
DD BB EOA GoBD. SHH ég S ok
5% Botd 520 @6 8air e, Swoddo
o0, B3R 5 Heo BoiH =28 Eodn =29 @b
S8 528 %, 8BDY) Bord 5B &) T
6 B0 S Sorth.

Which car owns Ramesh.

1) Maruthi 2) Kia
3) Hundai 4) MG
Ramesh & 5% 89A &oRH?

1) Sro& 2) 85>
3) Swoldo 4) &S
What is the colour of Car Honda.
1) White 2)Red
3)Blue 4) Black
TRPOTR 0 B0 Bord AE?
1) e 2) D
3) deo 4) Send)

425,121, 16,49, 169,

1) 225 2)250  3)340 4)256
BI- 89, DK - 185, FM-385, HO-737,
1)JQ - 1369 2)JQ - 1289

3)JQ - 1296 4)JQ - 729

Find the wrong number in the following se-
ries.

& (8ot B (BHS® Bprr mR)S Somg HIE?

27 45 325 567

18,9, 4’8 647128

45 325

567
D 8

3)9 4) 3

UNIQUE STUDY CIRCLE 9

U, V, and W are seated aroun a circular table
facing the centre. They are Manager, Engi-
neer, Chef, Pilot, Lawyer, Doctor, Architect
and Teacher. V sits second to the right of
Manager. The Piolt and Engineer are imme-
diate neighbours of V. R sits seconds to the
right of T, who is lawyer. T is an immediate
neighbour of the pilot. Only one person sits
between W and U. S sits third to the left of
T. P sits exactly between U and S. The Ar-
chitect sits second to the left of P. The chef
and the teacher are immediate neighbours of
the Architect. W is not a Teacher.

$ss (56-58): P, Q, R, S, T, U, V %85 Q

56.

57.

58.

59.

o3 8 HHod e a8 HTEED g ey
K50 SolEKnd SernoR. D FHed,
Bo2dH, 3D, 2085, e, t3°§6>, @6@@5
5005 Bi56 oF $Hed® sot. V H¥eds
Bokd HE& IH ErdodL. peed LHdaAsw
20208 8% V & 8 5B Er80a5.
R, T & Bo&s £&30H Ertnyoas ook T
a8 erc®b. T etdd 85 (HE)P Er8y)0a.
W 800 Ue o5 a8 &8 Srtnor. S,
T % 35 Q5B o, U odcin S e
0% P &e8y)085%. @6&8% P % Bo&S a8
B EPEN0BD. eBBEDH aHZHe BD SO
S5t Er80ak. W 858 s,

Who among the following is a Doctor.
H06° g A%5%?

R 2)V 3)W 4)P

Who sits between R and manager ?

R %8a%0 Manager o 0G5 DBB ERENOTRKD?
W 2)T 3)S 4)U
Who sits second to the right of Pilot.

1) Engineer 2) Lawyer

3) Chef 4) Doctor

208 Bokd HBESDH 2HBERE)0RK?

1) m02d5 2) ercHd

3) 3% 4) wES

IfP - Q means P is Mother of Q

P + Q means P is Brother of Q

P x Q means P is Sister of Q

P + Qmeans P is SonofQ
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Which of the following expression is correct Conclusion:')llj g(iirel i)sel;zrzlel Books
of A is the husband of B? H') No Pencil is Paper
P-Q o P, Q 0%, 88 [IT) Some Books are not Pencils
P+ Qusre P, Qawg) 286t IV) No Pencil is Pen
Px Qedre P, Q &wg) 2856 1) Only L, I, III follows
P + Q o3P, Q Gw¥) Sl 2) Only I1, 111, TV follows
B, A &%) 48 @ans 88 (8o 08vEsmines® 3) All follows
$OTKE D6B? 4) None follows
)A-R+VxB  2)A+MxV+B BEeses 1 1) R HYEnes Dden
3) AXxW-N+B 4)A-C+K+B 2) o) Dden, Dyen
60. Q'sMother is the sister of P and daughter of 3) @ 2y, dYeo 5o
K. M is the daughter of P and sister of R. SwAoHen : 1) 8 e, HRESmen
How is K related to R. I) & e, D 50
1) Grand father 2) Grand Mother I1]) &9 HRES0en, DAL
3) Uncle 4) Can't say IV) & BQyen, DR
Q Gw¥) 89, P % 6 260 K & 58 L IL, 111 s 056
M, P Gn¥) %578 baso R @wg) R5%:6. 9 1L, I1L, IV m@ﬁ;gam
wond K, R & H%0rHd0? 3) % OGSO =
1) sedciyg 2) Ty 4) 58 %65
8) BFolE 4) BT Direction (63-64) : Find the odd one.
61. Statements: 1) No Shirt is Saree oS5 (63-64) : PyFore &6 BevHi.
2) All Sarees are Blankets 63. 1)101 2)91 3)71 4) 61
. 3)SomeBlanketsare Lockers | ¢4 1)py 3 2)CX-8 3)BV-11 4)EY-6
Conclusions : I) No Blanket is Shirt 65. In a certain code language "Sin Bin Fin"
E%)SNO(I)HE};TS;EZ Zr}fhi arees means "‘Lilly and Food", "Pin Tig Fin"' means
"Delicious Red Food" and "Kin Din Sin"
IV) Some Blankets are Sarees means "Beautiful Yellow Lilly". Then what is
1) Only Iand II follows the code for 'Yellow'?
% 81\-‘; gla;f dlgff‘;élﬁsvvjs 2.8 $6a5e® "Sin Bin Fin' esre "Lilly and
4) Only 1V follows Food","Pin Tin F'in" ‘@ér.v "Delicious Refl
BEeven : 1) 5 e, HS s Food" 3536053? "Kin Din Sin" eo$re "Beauti-
2) o) Do, DR ful Yellow Lilly". eoon &5 $8e5¢® 'Yellow'
3) £°9) oy, B i”%ngs& ool 2 Din
Safohen : 1) © 8, S's9 weh 3) Kin (Or) Din 4) None of these
IT) &8 ertich, Den 66. In a certain code PICTURE is Coded as
) & 8%, sy, % UIECPRT. Then how is "RELATION" be
IV) £ o, D coded.
1) T soBcsw 1T Sor(@ed 030 o8 $6g7%¢® PICTURE & UIECPRT v &°6
2) 1T 2080t 11T (@3 $O@oise Sosorr of ©6grae® "RELATION" & der
3) I 50805 TV Sr(@dh 83058 S5 Sohiiersn?
4) IV o@D 583059 1) AEIOLNRT 2) OIEALNRT
62. Statements : 1) Some Books are Papers 3) OIEATRNL 4) AEILNORT
2) All Papers are Pens
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67.

68.

69.

70.

71.

72.

73.

74.

Complete the series .

(BB HrBoHEN?

EF HFGH G _EF_ EFGE GH
1) GEHEF 2) EGHHF

3) GEHHF 4) GEFHE

Direction (68-70): LS W4SK@MS5H#I16N

?7T8U9EL

Which element is Sth to the right of 15th ele-
ment from right of both Ist and IInd half of
the above series is reversed.

2 3O BBS° 088 H0an ToES K
grridne zﬁegé’aéé BES® S SHhars SHE
o0& 1585 HorofdndsH £H& IHS 5D
SoreBdn A1E?

1) # 2)£ 3)9 41

If we Cancelled all the symbols in the above
series then which element is Sth to the left of
the letter which is exactly between in remaing
series.

28 ad)d (FBS® o) HKed Eohodd
EBo°E DADD @écﬁzéooeeﬁ’s 25365?368 &)
OEBHNIE D IHIS 585 @B d1B?
W 2)S 3)4 4)8
Howmany numbers that are immediately pre-
ceded by consonant and immediately followed
by consanant in the above series.

23 2R (BBS® A @o8en I0oH et
B0 SBared Seepy EOA Gord?

1 2)2 3)3 4)4
CONSTABLE : 810: : RECRUITMENT :

1) 1552  2) 1352 3) 1400 4) 1452
PRINTS : EIQAMK :: ENGLISH:

1) IAMWQLO 2) IAMWQKQ

3) JAMWQKO 4) IANWQKW
369785 :10::7432596 :

1)10 2)100  3)90 4)12
Vijay is Taller than Kiran, who is Younger than
Mohan. Varun is Taller than Mohan but
Shorter than Lokesh. Anand is Taller than
Arun but Shorter than Kiran. Ifthey are stand-
ing according to their heights in descending
order than who 1s Third.

ez, 886, o0& PEH =0 88H, IS
EoB . S, IS Sod DD s &R
o83 @"@ @508, ©%&% o8 PEY = 856

75.

76.

Eo8 G wond N AE Bsto Bt e
Eoost DB H07Kd .%;260@35 AN Eodn?
1) Mohan 2) Vijay
3) Can't Say 4) None of these
Statement : I Like Doctors and want to be-
come a Doctor.
Assumptions : I)  am Not a Doctor

) I ama School Teacher
1) Only I is implcit
2) Only 11 1s implicit
3) Both I 'and II are implicit
4) Neither I nor II is implicit
(DZeoPen 1 T Jgen @0 BPRHD HOAD
3o SR SPTPOEI0ENTH.
gaseden 1 1) S SEREL 59

IT) 3 rdere eareyasnEo.
1) 1 sm($h g
2) I S5 SRR E A
3) I oot Il evigEERI6
4) 1 08050 1l 083D 55y
If + means addition and 'x' means subtrac-
tion, then (15 x 9) + (12 x 4) x (4 + 4) is
equal to.
L8R + odre + HBAL X wde - wand
(15%9) =+ (12%x4) X (4+4) Qend Dok?
1) 96 2)6 3)3/128 4)143/8

Direction (77-78) : In the following questions, the

symbols @, #, $, %, * are used with the
meanings as given below.

QeSS (T7-178): &8 (BodS NS Sdeaedo egrdorr

11

©&EAZENH0E [HHOB BRTEPIK0e0 T2ERW.
P @ Q means 'P is not greater than Q'

P # Q means 'P is greater than or equal to Q'
P $ Q means 'P is neither greater than nor
less than Q'

P % Q means 'P is less than Q'

P * Q means 'P is neither less than nor equal
to Q'

P@Q odre P, Q 852 56 =oth

P#Q o P, Q 852 256 Soe SEPEE6
P$ Q osrrP, Q 877 286 52 , D50 o
P % Q ol P, Q 85 956

P* Q odre P, Q 83 ds 508 585moim
5o
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77. Statements: BSR,R*N, K @ N
Conclusions : [) B *K

M) K% R

I B#N
1) Allare true 2) Only I is true
3)Iand [l aretrue  4)Iand Il are true
©8eden : BSR,R* N, K@ N
doussmen : [) B* K

II) K% R

I B#N
1) o) 00 ondd
2) Bdoo [ %6 e@andd
3) I 08501l 88 ©wondd
4) I 08050 11158 0o
Statements : M % R, R#T, T * N
Conclusions : [) N % R

IMHM%T

M *N
1) None is true 2) Only I is true
3) Only I1 is true 4) I and I1T are true
H8eden : M% R, R#T, T*N
doussmen : NN %R

IMHM%T

M *N
1) D& 8 ®onId 500
2) 85050 1 %86 @wondd
3) 85050 11 88 wansd
4) I %0850 11 88 000
Which of the following diagram best depicts
the relationship between females, Mother, and
Sisters.

78.

79.

(d)

©o

@

by

(b)

©

Direction (80-82) : In the Venn Diagram given be-
low, the square represents women, the tri-
angle represents persons who are in Govern-
ment services, the circle represents educated
persons and the rectangle represents persons
working in private sector. Each sectio of the
diagram is numbered. Your task is to study
the diagram and answer the questions that fol-

UNIQUE STUDY CIRCLE 12

Qsd (80-82)

80.

81.

82.

83.

low.

S (8ol ad)S DreTeEs
g 10000 odAdendod (B
DRoerdSnen maewwaﬁw.

Educated

persons
%

8

Persons in
Government service

Persons in private sector

Which number represents educated women,
who are in Government jobs.

i8] Qogyg Dogdoden ©ond (H3He t%&'igﬁ)e»
©oNS HEPFOLH BOCHENOE.

1)2 2)3 3)6 4) 4
Which number represents the uneducated
women, who have Government jobs as well
as jobs in private sectors.

O Dogg dugHodien SR (RIS ES
S08rFen ond ($HehEy (%55?3213@263 QeQ0H0?
1)6 2)4 3)12 4)9
Number 10 represents.

1) educated women in private jobs

2) Uneducated men in Government jobs

3) educated men working in private sectors
4) educated men having private as well as
Government jobs

10 K085 &rDoh (@Podsm d6?

1) degiodhen (@5 DFEER Hdrrein

2) Swf’?gzéoéae» S9) @@é& (%&igﬁ)e:o ®ond
9B

3) deEgHodhen wows PR PES® B TD
DBospen

4) dorgdosHen @ond ';‘.335 ?055565 HBH
©ONS ($HgHEy (%58?3?%926)

A girl was born on September 6, 1970 which
happened to be a sunday. Her birthday would
have fallen again on Sunday in.

a8 PO @) aYoddo 6 JPowd 1970
865 sbardo HYSQNE, Hf) © DL GwE)
aiIo éoaﬁé«)éoé’s ©OTPEO H)o?
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86.

87.
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1)1975  2)1977 3) 1981 4)1982
Asunrise, Amit and Deepak are having a con-
versation standing in front of each other. THe
shadow of Deepak 1s formed towards the right
hand of Amit. What direction is Deepak fac-
ng.

a8 éyﬁigcﬁo‘s; 300D WE HBD HH
DD SoEo Qo) =1 DR S0
BOYOHE DTN, & $00Hos® H%E D)
D8 oHESH HE IHS o“atﬁ)eéazé&épgoné &8 D
BIBDH Sopo VT

1) North- East 2) South

3) East 4) Noth

Awatch, which gains uniformly, is 3 min slow
at 12 noon on Sunday and is 5 min 36 sec-
onds fast at 4 pm on the next Sunday. At what
time it was correct.

a8 K&dSr80, shHTE0 Zbéagzéam?ga’w&o 33.
Jsyore SEHB. ©B KEArEon Sos )
©OTE0 . 4 Koo $00HoSE 5 QRS0
36 BESen Sore SN[, wand @ KEEESo
@ ¥oho D8 BB oS HXAD0 Ko ?
1) 12 am on same day

2) 12 pmon Monday

3) 12 mon Tuesday

4) 12 am on Wednesday

Actortoise walks 1 kmin4 h. He takesrest of
20 min after every kilometer. So, you have to
find out, how much time would be taken by
tortoise to complete 3.5 km journey.

2.8 oeBen 1 8.8, &m0 4 Koterd® St
©8 (%8 8.8p. &rBo $&DS SoxE 20 AHDoeD
Q0d EHEHK. wond e se@en 3.5 8.5.
&80 (H05B0He% o Do SnEk?
1)l14h 2)13h 3)15h 4)I12h
Sudha went to watch movie 9 days ago. She
goes to watch movies only on Thursday, What
is the day of the week today.

8 9 Bere 880 2ASTE 3. ud Edesmw
%P0 LrEah 2STE SED and &8 &8
d T80 @H?

1) Thursday 2) Saturday

3) Sunday 4) Monday

How many times in 24 h the hands of a clock
are straight?

90.

91.

92.

13

K& SPE0S*D Bokd Sogen 24 Koereost
QYL &8 J8¥BnS® &otHin?

1) 48 2)44  3)24 422
16 6 9 9 @36
1 ?
1)38 2)64  3)4 4)16
4| 5|(3]2]0
7| 3] 4] 4|21
6 | 4 | 4| 5|2
96|55 7?2
)34 2)42  3)44  4)45

There are 25 boys in a horizontal row. Rahul
was shifted by three places towards his right
side and he occupies the middle position in
the row. What was his original position from
the left and of the row.

a8 o) SRS 25 HH08 erendd e, TSRS
3 égme» 83 B8 JHH 2iHEL Jold 8D &
$80%8° Kore Elnlg 3;2626;;26%3 S, @

o3 FoE) TS S(;é:ﬁn AESD B) ool Dos?
1)15th  2)16th 3)12th 4)10th

In each of the questions given below, which
one of'the five answer figures should come
after the questions figures on the right, if the
sequence were continued.

& (Bots ad)S Herdoes® (FBEE Sthars B
D0 EoPo.

Questions Figures

K = %[z = *X|A Z *[T Z *|p T *

Z S oA K oT = P A els 'z «

AT PIT P s[P s K|s K =[K = A
1 2 3 4 5
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Answer Figures

S T *%[S P X[A T %[Z T R[s T @
K P oK T efs z o/P A oK P *

= A Z|= A z|P = K|S K =|= A Z
@ (b) (© @ O]

)b 2)a 3)c 4)e

93. How many triangles are there in the following

figure.
&5 (808 He0S® (@ghHastne dogy dod?

EE=N
1 1]

el

1)29 2)23 3)19 4) 25
Direction (94) : In each of the following questions,

find the answer figure in which question fig-

ure is embedded.

& (80B (B SISV DI O SRS

HeEnE® A EHES SHOFS8.

94, |/
@), (b) © (d)
95. What is the fewest number of blocks you

nenend to add to make this shape into a cube.
S8 B0t 2D)HenH0E 5088 Hodsnes) A
§§)oé) FodHweod 0 26(;)“000@9 ©d af
D05oeasdnrr oo,

UNIQUE STUDY CIRCLE

)30  2)41  3)50  4)51

Direction (96-98) : Read the information given be-

low carefully and answer the questions that
follow.

XS5 (96-98) : s (8ot BONS SEPToH0D eFST

96.

97.

98.

99.

14

K008 @&ASEnH0d HEELH JSerdimen
ToaR .

How many smaller cubes are there having only
one surface painted with red colour.

B0sn 1 Sopsned %) Sorh Ko bdsnes
aY?

1)18 2)24 3)36 4) 54
How many smaller cubes are there having two
surface painted with red colour.

Bh050 2 S0PS0eB B o Ko oSHmen
aY?

1)8 2)24 3)36 4) 54
How many smaller cubes are there having only
three surface painted with red colour.

307t S0gXneB Bord Ko FuJIWen dY?
1)8 2)24 3) 36 4) 54
From the given four positions ofa single dice,
find the colour at the face opposite to the
face having red colour.

& (8ol a)S Deswesny egrdorr Fo8D
B3& ob% zéegé’é?gsp Sopost o Eobd
BP0,

red Blue pink Jeto¥
& g b 3
Blue |% Black |& Yellow | € Green | %
| I il \%
1) Yellow 2) Pink
3) Green 4) Black
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100. 5-8=3,9-27 =6,7-64=3then3-27= 9) £8005r STHED  2) @@2@'55“)

? %) & 3) I
1) 62)7 3)3 40 &) e 4) @eterar
1) -3, -4, -2, &-1
2) 9-3, -2, -4, &-1
3) 2-1, -2, 2-4, &-1
VS RN -1 -4 25-9 &-
23565 ‘Qé‘\) 4) d-1, H-4, -2, &-3
@ 103. Photosynthesis occurs in.
101. Which ofthe following groups is present in 1) Nucleus 2) Mitochondria
animal cells. 3) Chloroplast 4) Peroxisome

1) Mitochondria, Cell membrane, Cell wall, 88er23:S5 SoTRK(Eah 3trd earorsn?
1) éo@ﬁéo 2) ?_)5890@0‘53
3) %% 4) 308

104. Vaseline was applied to both surfaces of the

Cytoplasm
2) Chloroplast, Cytoplasm, Vacuole, Nucleus

3) Nucleus, Cell membrane, Mitochondria,

Cytoplasm leaves ofa plant. Which of'the following pro-
4) Vacuole, Cell membrane, Nucleus, Mito- cess / processes would be affected.
chondria 1) Photosynthesis

as0808eres® 808 AE® B Homsten &T00? 2) Respiration

1) oesbeeoBose, Beadddo, Beadilo, e8P0 3) Transpiration

2) 5565@3@, @56@';&53, So(Bo, 888
3) Zo(&%o, BeadiySo, é‘5_3@3’55;?0@%o‘i)ﬁ, ?(\_363‘5@:&0

Select the correct answer using the codes

1) A-3, B-4, C-2, D-1
2) A-3, B-2, C-4, D-1
3) A-1, B-2, C-4, D-3

4) A-1, B-4, C-2, D-3

2385800 ?

aPdze-1 aPTe -2

(2208805)) (go)

D) BB 1) &men
UNIQUE STUDY CIRCLE
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105.

given below.
4) 888, SeadsSo, Bo&¥o, 3)@3’551’0@0‘550
- = 1)1 and3 2)2, only
102. Match the following.
3)2and 3 4) All of these
List-1 List - II
‘ _ 8% Bod FHe TROS FRRSHD & (8od
A)Ascaris 1) Mammalia HBS [HerDEDHE0n?
B) Malarial Parasite ~ 2) Arthropoda 1)88e0esiSs OB
C) Housefly 3) Nematoda 2) B5BoD
D) Cow 4) Protozoa 3) RGeS

8o ad@as S°God &IDBPACD KBS
BLTERHE0 DoBE K.

1) 1, $08c5 3 2) 2,50
3) 2, $60%» 3 4) BN
Match the following.

List-1 List - IT

A) Vitamin 1) Pepsin

B) Enzyme 2) Carotene
C) Hormone 3) Keratin
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106.

107.

D) Protein

1) A-1, B-2, C-3, D4
2) A-2, B-1, C-4, D-3
3) A-2, B-1, C-3, D4
4) A-1, B-2, C-4, D-3

4) Progesterone

2388000 ?

erdar-1 edae-2

Q) DS 1) 28)S

D) o8BS 2) 38%88
2) &4 3) Bo°&8
&) *ES 4) @rERoS
1) o-1, §-2, »-8, &-4

2) -2, -1, v-4, &-3

3) -2, -1, -3, &-4

4) -1, -2, v-4, &-3

The "Pace Maker" is also knows as.

1) S.A. Nodes 2) A.V. Nodes

3) Bundle of His 4) Chordate tendineae
“DD 86" & DPore Ere Heordd?

1) S.A. & 2) A V. &

3) 208S &5 2xH 4) §§80&5
Assertion (A) : Transformer is useful for step
ping up or stepping down voltages.

Reason (R) : Transformer is a device used in
D.C. Circuits.

1) Both (A) and (R) are true and (R) is the
correct explanationto (A)

2) Both (A) and (R) are true but (R) is not
the correct explanatin of (A)

3)(A)istrue (R)is false

4) (A) s false (R)1is true

DB yEaesgo (A) @ (ErSH)rHd 55@3&@;63
20508 Sae BNOBTEAE GHBrHHEE08.

Y (R): €08 FEE &30 8.2 SBmpSeost

16

108.

109.

110.

SEHBA0D HBEB0

1) (A) %80 (R) e Both a0 0650
(R)(A) % 25630 D5

2) (A) S8 (R) en Botd @350 =2 (R)(A)
& ¥BF@od Db S

3) (A) &350 (R) evaeddsson

4) (A) oa3550 (R) argd8m

Presbyopia is a visual defect caused by.

1) Elongation of the eye ball

2) Shortened curvature of the eye lens

3) Weakening ofthe ciliary muscles

4) Gradually increasing flexibility of the eye
lens.

‘B Bre0csr” e Cse)%éé’sa’aaﬁwzééa 5°8e00?
1) 80198 deeedorpe

2) JE@Hee0 ARV tlale
3) %9058 Bokoren 2eiPSHEe

4) 38 se8o Do) 2&DO (Bdore 1dorde

Which ofthe following is sensitive to ultra-

SOnic waves.

1) Man 2) Bat

3) Bird 4) Fish

Bod a5t o IE Sore (58
Q)oboHI&?

1) $9% 2) KK&)¥o

3) 8, 4) 3%

A pressure cooker cooks food faster because
of.

1) rise in boiling point

2) Fall in boiling point

3) The quality of metal of the body of the
cooker

4) Medium of cooking

(X6 éaé&g 8:580e) SKormre Ho&0d
Q0LHE?
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1) %83 o DHIHS VBYEIHPE E§ DsHE0B.

2) 67 o SHrdde 2) o580 005w InES EEH Ly DOBOSHP
3) éaé&g €S 5308 Sl Siteloa

4) $08 &0 3) dolES oF (HesEd Jpond BodIG

4) 5erS8t wdwobosndS 8
115. Match the following.

111. The mirror used for the head light of a car is.
1) Spherical Concave 2) Plane

3) Cylindrical 4) Parabolic concave List -1 List - II
S REBSS SIEPR0SH ©50? A) Potassium bromide 1) Fertiliser
1) ﬁsgvs:é Derses 2) mié@ B) Potassiumnitrate ~ 2) Photography
3) dparsd 4) oSO8 58S C) Potassium sulphate 3) Bakery
112. Which ofthe following is used in oven ? D) Monopotassium tartrate 4) Gun powder
1) X-rays 2) UV-rays 1) A-2,B-4, C-1,D-3
3) Microwaves 4) Radio waves 2) A-2, B-3, C-1,D-4
8oB A V6 LRTS® SHRrA0BEH0E? 3) A-4, B-2, C-3, D-1
1) x- 88emen 2) UV 88een 4) A-4,B-2, C-1,D-3
3) @@55&» 4) B&Bo> SBorren 2EHEDHHIN?
113. Which one of the following is not Noble Gas. dze-1 -2
1) Helium 2) Bromine ;i z‘;zzz g‘ig—f ; gs?ﬁ;z
3) Argon 4) Neon %) derticho 85 3) Beo
&3 (808 S alaraingd seA6? &) rStererncho erbEES 4) KSEE
1) &ocho 2) ™S 1) d-2, H-4, »-1, &-3
3) &S 4) Q5PS 2) 9-2, §-3, d-1, &-4

3) 9-4, H-2, v-3, &-1
4) d-4, B-2, d-1, &-3
116. By the end of December.

114. What do you understand by the term "Bind-
ing Energy'.

1) Energy relased when a nucleus is formed

1) Air pressure in southern india is higher as
from protons and neutrons

) compared to Northern india.
2) The force of attraction between an elec- *

2) Sun shines vertically over the Tropic of
tron in the first orbit and the nucleus ) Su v y oV p

. ) Capricom in the southern Hemisphere.
3) Electron belonging to the same major en-

Which ofthe above is / are correct.

1) 1, only 2)2, only

3) 1 and 2 4) None of the above

8025 QN8 B8

ergy level

4) Energy associated with a photon

‘BoloR Y ©F Hiso T W HW @Yo
BT,

” - OS50 AENHM™ 06008
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117.

118.

2) S5t S5 @RS 558 T°8S DenHT
(D53,

23 DO TBSE DB $BL6?

1) 1,508 2) 2,575

3) 1,585 2 4) 239 =

The region in India that is most vulnerable to
seismic movements or earthquakes is.

1) Western Ghats

2) Plains of Northern Uttar Pradesh

3) Sunderbans Deltas

4) The Himalayas

ePESBI0SE 8o E&DEen Soe ehrdoaren
od&p8orr Hiy) (@Podo?

1) H3)% S5

2) 6EEDTT SEHES

3) LooibaR) Gepen

4) e asTeen

Why are floods so destructive in the Ganga
Brahmaputra valley.

1) The valley is highly populated with a sub-
stantial population living in flood prone areas.
2) There are no landslides or soil erosion in
the region that increases the velocity of rain-
water.

3) Ganga and Brahmaputra carry large vol-
umes of water and have large catchment ar-
eas.

4) There is intense rainfall in the upper catch-
ment areas of Ganga and in the Indian course
of Brahmaputra River during Monsoon.

Select the correct answer using the codes

given below.
1)2and 3 2)1,3and 4
3)1,and 4 4)1,2,and 3

sore (@559 568°0HS° HEGen DothE wos
DBgoE80?

18

119.

120.

121.

1) & (Frosos® axrer wdEorre God

2) S8D & 3(\?(‘0& 203 Eoksbokhen Soe
Sests S

3) & (Frosos® OB Hosreo ®dEo

4) Hr&ddTre dHcHos® & (Fosos® (S
SEFFE0 Goenod.
1) 2, 03w 3

3) 1,560 4

2) 1, 3 SHbosm 4
4) 1, 2, HBcs» 3
Which ofthe following practice (s) help stop

soil erosion.

1) Mulching 2) Mixed farming

3) Crop rotation

Select the correct answer using the codes
given below.

1)1 and?2 2) 1, only

3)2and 3 4) All ofthe above

Bod oo’ 26 JTeosfddH oS8
SESLOVIInS el

1) &&yoh

2) Hoe Seod

3) Hoéy (gPdoeso

8P Ba3waS G 6IBrAod $DD

ISR DoHEa.
1) 1,580 2 2) 1,5m(&D
3) 2,500 3 4) I

Most of the salt produced in India comes
from.

1) Rock - salt deposits

2) Sea water

3) Brine springs

4) Salt lakes

PEEBEoS &3S @&5}5 é,o“ao)ﬁés Qé)&ié g0
3 %008 S0d?

1) o8 - agp gren 2) KEMEDH &P

3) (%Kayi)é% aao?ée» 4) 6P JBen
Katkari Tribes, sometimes seen in the news,

is largely found in which of the following
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122.

123.

124.

states.

1) Maharashtra 2) Telangana

3) Karnataka 4) Tamil Nadu
E0sed Bien JENH™ O ToHoS® EAIB?

1) zﬁocﬁsm@ 2) S©orre

3) Spe¥ 4) SPETD

The states with the shortest and longest coast-
line are.

1) Odisha and Maharashtra

2) Goa and Tamil Nadu

3) Goa and Gujarat

4) Odisha and Andhra Pradesh

Bod W@;@@s B B AENS BB Ty
EOAS oolgpen?

1) e&ae 8w é)&’:"mg‘;}

2) e H805n SDFTL

3) o LoBckn Hesoes

4) 2,83 LHB SoFHRSE

The Indian states with the longest and short-
est international borders are.

1) Assam and Manipur

2) Rajasthan and Sikkim

3) J & K and Nagaland

4) West Bengal and Punjab

9 880D Tolaen WBRPESS DHOKD ©B SED
@oécgé%o‘éa DBLeE0 EOA esT00.
1) @0 B B3

2) ooeiRS 8% 280

3) J & K $080%0 sereerol

4) $3HBorS 5D Howrd
Duncan passage is located between.
1) South and Little Andaman

2) Little and Great Nicobar

3) North and Middle Andaman

4) Middle and South Andaman

19

125.

126.

127.

& (8o I gk K0S FoE &od?
1) &880 $oB0 DES ©oLSPS

2) O8S Hdk» [BieS I&°rE

3) 688 B gy WorKTS

4) 55 B B @OEIPS
Arrange these cities of India in increasing or-

der oflatitude from equator.

1) Gwalior 2) Nagpur
3) Bhopal 4) Hyderabad
5) Pune

PESBI0SD 53 Bod Sriorerds g B
3008 ogrodre $8%H ©36%5en (Eos?

300 ?

1) m(gé’)o‘éag 2) a6

3) &S 4) rsoeers

5) S

1)4, 5,2, 3,1 2)5,4,3,2,1
3)4, 5,1, 3, 2 4)5, 4,2, 1,3

Eastern Ghats are eroded and out through by.
1) Chambal and mahanadi

2) Godavari and Krishna

3) Pennar and Gandak

4) Tapatiand Kosi

B8y Bdosoen HA B8 8°8%H HHBoTom?
1) Soad 58w HseSe

2) FPoedd 0ok ap

3) DIn5 8w KoK

4) 858 8050 8%
Which among the following is not a good
source of nutritional calcium.

1) Rice 2) Ragi

3) Skimmed milk 4)Egg

& (Bod TSt D6 ‘509 0500 odod
DEAEeSHBE0 508%.
1) &adgo

3) NS

2) o°A
4) &
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128.

129.

The Meghalaya Plateau is said to be rich in

mineral resources. Which of the following can

be found there.

1) Uranium 2) Limestone

3) Iron ore 4) Coal

Choose the correct answer using the codes
given below.

1)1 and?2 2)2and 3 and 4
3)1,2,and 4 4) All of the above

Dgroch S8R pla S SR
608 Jawseds. 208 SEST B
OEEEEEEH0H?

1) a50BJc%Ho 2) Dozyoeon

3) 209 Ao 4) é"ﬁg

8% B3waS G 6IBrAod $DD
ISR DoHEa.
1) 1, o8cs» 2

3) 1, 3, 6o 4

2) 2, 3,080 4

4) BN
Consider the following statements about the
Delhi Ridge.

1) It is northern extension of the satpura
Ranges.

2) It protects Delhi from the hot winds of the
deserts of western Indian.

3) It forms a critical 'water divide' in North-
ern India.

Select the correct answer using the codes

given below.
1)1 and 2 2)2and 3
3) 3, only 4)1,2,and 3

O 8 (080D & (8ob (Il
568905087

1) 86 PENT> BoE) SEB TR0 HBGen
2) 38 H3yo PEEBE0SEY e S&Mrene
3008 8O 88%od

3) 38 688 grssdgost o SESESORY e
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130.

131.

DS RBY00
8P a3waS G 6IBrAod $DD
Q) doHstod?

1) 1, S06cs» 2 2) 2,580 3

3) 3,5m(&D 4) 1, 2, £HB85» 3
Consider the following pairs.

Peaks State

1) Mount saramati - Nagaland

2) Guru Shikhar - Rajasthan

3) Doddabetta - Tamil Nadu
Which of the pairs given above is / are cor-
rectly matched.

1)1,and 2 2)land3

3) 3, only 4)1,2and 3
(Bod o HBKBS0E?

Bgpooen mg:}o

1) B dpSo - Jereero

2) H%BmBo - U%S;E

3) BEBY - D

3 856583&26 dost DO é@rg K88 onod?

1) 1, S06cs» 2 2) 1,580 3

3) 3,5m(ED 4) 1,2,580%0 3
Which ofthe following fall under the penin-
sular block of India.

1) Karbi Anglong plateau

2) Rajmahal Hills

3) Meghalaya Plateau

Select the correct answer using the codes
given below.

1)1 and?2 2)2and 3

3) 1, only 4) All of the above

Bobd BS® D& DAKOE &rf @hH moddir
$668%8 $08?

1) 88) @orroh H8gm

2) orasuSeS SoXen

3) Sosrech HELTMD
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132.

133.

134.

8% Ba3waS G 6IBrAod $DD
Q) doHstod?
1) 1, S06cs» 2

3) 1, &8

2) 2, Hdas» 3
4) 239
Which of the following mountain peaks could

be found in Andaman and Nicobar islands.

1) Saddle Peak 2) Mount Diavolo

3) Mount Koyob 4) Mount Thuiller
Select the correct answer using the codes
given below.

1)1,and 2 2)2,3and 4

3) 4, only 4)1,2,3and 4

8ob &S O DBG TPPT°0 WOEHTS 0B
&%erE BHed® EDDFoon?

1) &8 8pBo 2) RS Bpdo

3) 8@l 3pBo 4) §reb Bpdo

8BS $Srerard) oHstod?

1) 1, $o8as» 2 2) 3, Sobcso 4

2) 4,57 4) 1, 2,3, S8 4

The most part of the river basin of Indus lies

n.
1) India 2) China
3) Pakistan 4) Afghanistan

Do $8 BBTEE (Frodo KNS O B
&o&?
1) gr88a$0 2) I

3) F8JPS 4) SPAFRS

The president's Rule under Article 356 re-
mains valid in a state for the maximum period
of.

1) One year
3) Three years

©08S 356 (Hsodo TS e el m@oéﬁ
Q0 SP0 Begg’aﬁéw@‘s GOtNOR?

1) &8 Jod&Bo 2) BotdH YoN& ooen
3) Lotd Jod&Eoren  4) Teenrd YoNE oven

2) Two years

4) Four years

21

135.

136.

137.

Money can be advanced out of the

Contingenay fund of India to meet unforeseen

expenditure by the.
1) Parliament 2) President
3) Finance Minister ~ 4) Prime Minister

€380 BN PO acﬁ:&‘sgrzéavébé ABO TP
eeé%”o&é S0B05» gRB8SBEI0 ol e 9:96‘55“‘)
30‘5326::5;3?

1) PEIoéw
3) @gééao@

2) oogoe

4) Beedool®

Who ofthe following vice-presidential can-
didates was elected unopposed.

1) K.R. Narayanan

2) R. Venkataraman

3) Dr. Shankar Dayal Sharma

4) Krishna Kant

SEod eIoegdsd ot 5% dEASomr
AYNBA=g8>?

1) 8.6, ororcHees 2) ¢85, I08LHTeSHS
3) oo, 40886 BarE 48y 4) §soE

Who of'the following became the prime Min-
isters after being chief ministers.

1) P.V. Narasimha Rao

2) Charan Singh

3) H.D. Deve Gowda

4) V.P. Singh

5) Morarji Desai

Select the correct answer from the codes
given below.

1)2,3,4, and 5 2)1,2and 4
3)1,2,3,4and 5 4)2,3and 4

8oB BE® DS S0g500(B oS ST
(DeSo0ol@ ©onTeE?
1) 3.9. S8voscoesy

3) 3r&.&. BIFE
5) I00°§ BaH

2) S8Hwdon
4) .. doh
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138.

139.

140.

1) 2, 3, 4008350 5 2)1, 2 Hdcsw 4

3) 1, 2, 3, 4 008050 54) 2, 3 HdA%m 4

In the context of the budget, the term 'Guillo-
tine' is used with reference to which of the
following.

1) Appropriation Bill

2) Consolidated fund charges

3) Voting of Demands

4) Finance Bill

ges éoééeboés “AStBS” o Hod) 8od THE
308 $0220800 GHBTRAIE?

1) S¢ronoy) dey

2) ETDUBE Ho& feo

3) &&rog &&oh

4) 8% ey

The Estimates Committee of the Lok Sabha.
1) Prepares estimates of expenditure of the
central Government

2) Examines the accounts of Departments of
Government of India.

3) Prevents unauthorised collection of taxes.
4) Suggests economies to be made in the cen-
tral administration.

S 585 eoSTre ED&?

1)_550@5 @’)e‘,ﬁ)e‘% PEN® WOITOD ?otgo 3@0&.
2) 88 (Heh&Y FrEroD 88008,

3) B BHHSOE SarE)H VB8

4) Bol LBl ©8¢ gL 0
BraPodomred Jrdnod.

Consider the following powers / functions.
1) Appointing ministers and allocating port-
folios to them

2) Presiding over the meetings of the cabinet
3) Resolving conflicts between ministers

4) Communicating with the Governor.

The powers / functions of the Chief Minister
22

141.

142.

of a state include.
1)2,3and 4 2) 1 and 4
3)1,2and 3 4)1,2,3and 4

Bob whsTren [ STl H0KBoK08?

1) Soo(ghed DaHolEo SHdA» s°88 Fogen
BeronosEo

2) SR IFrBTeH WEES HerosEo

3) Sooghe 25365?3 DFredd 5’36&’1&601‘560

4) 555,68 SEVWISAER Enfovsinte!

m@ S0ggrol@ Eog) wHSTen /S‘°U°§QD

1) 2, 3, HBc%w 4 2) 1, H8c%o 4

3) 1, 2, Hdcso 3 4) 1, 2, 3 0085w 4
Where was a fourth High court was establish

in 1866 ?

1) Bombay 2) Madras

3) Allahabad 4) Galcutta

1866 &° wrod 8% 28K Fdodadod?
1) &Poeron 2) Soloedd

3) ®oeers 4) Sodze

Indian recently presented its second volun-
tary National Review (VNR) at the United
Nations High-level Political Forum (HLPF).
In this context, consider the following state-
ment.

1) It 1s a unique process which involves a re-
view of the human rights records of all UN
Member states.

2) NITI Aayog is the nodal agency with re-
spect to preparation of Valuntary National
Review.

Which of the statements given above is / are

correct.
1) 1, only 2) 2, only
3) Both 1 and 2 4) Neither 1 nor 2

oEgoresy S eé&éﬁvooo ool Jog
®
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143.

144.

(HLPF).&* grs8csnch adde 85 Boks
ge5yoes 8% 9808 (VNR)Q 8508y

&3 éocﬁéa)oés 806 (D830 HBKBoSOR?
1) 56 o) UN. a5 Sevo e e 6598
HB:DEe EON A o8 (HEEDD BB
2) 0068 JIHIS B:3eg B05708 H0220509DS
NITI s&»h &S a3

28 ad)d JTDodod® & ¥JXO

2) 1,5m(&D 2) 2,&m(D

3) 1, $H8c5» 2 4) bzt

Consider the following statements with refer-
ence to Air bubble agreements.

1) It is a bilateral agreement for the transfer
of clean energy technologies between two
countries.

2) India has not signed any air bubble
agremeement so far.

Which of the statements given above is/ are

correct.
1) 1, only 2)2, only
3)1,and 2 4) Neither 1 nor 2

dond pard adjoore eS8t 2od
?585530&5@& HBKBoLo&?

1) 38 Bok Be Kois §5 a;éé Bsnyod 2008
020K JFFE oo

2) eSSBS0 BB)BIEE @ dowd  2ard
2.5)0503 Voo BeHSE.

1) 1,578 2) 2,578

3) 1, $H8c5» 2 4) bzt

Which of the following are the components
of factor income.

1) Employee compensation

2) Profits

3)Rent

4) Transfer payments

Select the correct option using the code given

23

145.

146.

below.
1)1,2and 3 2)2,3and 4
3)2and 3 4)1,2,3,and 4

od 8S* =80 wraho grrren HY?

1) éﬁs?gﬁ HBSBBo 2) ePgPen

3) o3 4) 269 IYoHen
BI93 BN E°EI SIDBPAOD JBED 0B
DoH&od?

1) 1,2, 5850 3
3) 2, o850 3

2) 2, 3, Hdcsw 4

4) 1, 2, 3 &bdosw 4
'Remote Learnign Reachability' Report was
recently released by.

1) National Commission for protection of
Child Rights

2) NITI Aayog

3) United Nations Children's fund (UNICEF)
4) Reserve Bank of India (RBI)

“03¢5 BH)OR EIwdB” B Bod O
sdse DHBe Bohadod?

1) eroo FEHe S &850 a8 8RS

2) 08 wdrh

3) méém&?g D8 e I

4) Be:bg a0 & modaire

Consider the following statements.

1)India’s first snow leopard conservation cen-
ter will be established in kinnaur, Himachal
Pradesh.

2) Snow leopard conservation center will be

setup in collaboration with UNDP.

Which of'the statements given above is / are

correct.
1) 1, only 2)2, only
3)1land 2 4) Neither 1 nor 2

Bod (BB H0KBoSoE?
1) grESEED S0EFNEG Hooh DBE SobEes
oo FBrISFITISD  §IT)E P
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147.

148.

.ﬁggaoiﬁeac‘ﬁaé)o&.
2) HoP VS SodEmioo UNDP.
Jese808® Hoyen BaherEos?

2 8 8 Dood® d& $[XH?

1) 1, (& 2) 2, Sw(B

3) 1, 0805 2 4) bzt

With reference to 'Dhole’, consider the fol-
lowing statement.

1) Western Ghats and Central India are the
best places to sport Dhole in India.

2) It is listed as critically endangered under
the [UCN's red list.

Which of'the statements given above is / are
correct.

1) 1, only 2)2, only

3)1,and 2 4) Neither 1 nor 2
o8 HEH (6%5)8 o080 (B0 (HELBOK
HBRBoBo&?

1) gr888806° 08D HHoH HBH EHe
FoB0 oS5 TPEEBI0 SEHToS (Hdeen

2) & HHe» TUCN &osrd 328 (Hsmsod®
&) o .58
1) 1,583

3) 1,500 2

2) 2,&m(D

4) Db

The "Dual Economy' is a mixture of.

1) traditional agriculture sector and modern
industrial sector

2) Industrial sector and manufacturing sector
3) State ownership of the means of produc-
tion in corporation of foreign organisation

4) Industrial sector and trading of goods ob-
tained throught imports

“tSoes eégé Eé?gzég” 6D o|EHo?

1) FPoldTreh gD Borfo B eEblE

FB(BDE Boro
2) 36| 3E Soifo B Saird Soifo
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149.

150.

151.

3) 33 éog B 98"&3&56‘3 688 PET°0

me;q OSoes 350

4) FO|TE Soro HBakn BrhHH&e TR

PodS SyHe o

The most appropriate measure of a country's

economic growth s its.

1) Gross Domestic Product

2) Net Domestic product

3) Net National Product

4) Per Capital real Income

3%0 GoE) @88 HAE ©Frod JF0DSID

® [} et

SPodrS0?

1) dro B8RS
z <

3) A8BerdHh 68)Y

2) JEB B8 Y
4) 030 ez smrcdo
Economic Survey of India is related to.

1) Planning Commision

2) Reserve Bank of India

3) Ministry of Finance

4) Finance Commission

DEPDE $TY 8§ BoBAST B8 %020050D56?
1) &pRoR 8BS

2) Be:by a0 e modaire

3) @gézﬁao@é(s 3o

4) P8 EWBS

Before 1956, which of the following is the
north-west border of the Hyderabd presi-
dency ?

1) Central Province

2) Bombay presidency (Khandesh District)
3) Madrmas state

4) Godavaririver

1956 00 (B0 &S 3rsoears (BRRNS
sy VOIRE DB?
1) oS (DY) 2) &Poaron (BIE)

3) HEH Togo 4) Foesd $6
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152.

153.

154.

155.

156.

In which place, Manjeera drains itself into

Godavari.
1) Nizamsagar 2) Nizambad
3) Kandukurthi 4) Adilabad

O (BBFoe® 0088 Ao ss (H5erk0s?
1) Qao K6 2) Qeedeered
3) Bothsd 4) &eerd

In the restwhile Hyderabad presidency Bima

river course was in.
1) Raichur 2) Mahabubnagar
3) Gulbarga 4) Krishna gramam

Spss Asrse B8os® ex) Fruoers (RRRY?
1) o°c% S8 2) Sodeeareidisd

3) ey 4) &ap (esoo

The author of "Thoughts on Linguistic States'.
1) B.R. Ambedkar  2)FaziAli

3) K.N. Wanchu 4) K.V. Rangareddy
) e é’)oﬁi\gg ?33\3&5:_\) BSons?

1) 9.5, @0565275 2) HB @d

3) B.0%&. o 4) 8.2. 60(?6@
Name the All India congress president who

pressured Telangana congress leaders to sup-

port Visalandra ?
1) Jawaharlal Nehru  2) Debar
3) Vallabhai Patel 4) Indira Gandhi

DFeroPE i B3R Boorres 50BN
TOLBHOR .88 BN wdo grdE oRD
Ot 52

1) 235558erd I 2) Bab

3) éo;g $erdd SBS 4) sodoerrod
Which of the following states do not have
krishna Basin ?

1) Andhra Pradesh

3) Karnataka

2) Madhya Pradesh
4) Maharashtra
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157.

158.

159.

&)oL B8 EOA GoEd oo d6?

1) @olBHEs 2) SouHEE

3) Sope¥ 4) QoFfoegy

Name the High court Judge, who gave a Judg-
ment that mulki rules were not applicable to
AP Seb.

1) Justice Komuraia

2) Justice Chennappareddy

3) Justice Kuppuswamy

4) Justice Avula Sambasiva Rao

508 DarogSen O.2. DB HoSH By B
?3_?5563” T250050°8?

1) &?85 Siswlelonty

2) &%’85 B?é&éaé

3) &?85 é)éj@g&b

4) &?35 SO FoB3NT)

Naxalbari Movement is against

1) Landlords 2) Moneylenders
3) Politicians 4) 1 and 2
éé@@a)é 685500 dHes Eé?gé’éééo?

1) @*J@"(Szﬁne» 2) L8 Boidy

3) e ohHen  4) 1, HHda%w 2
Consider the following statements regarding
Rig Vedic Aryans.

1) There are no evidences of the use of Iron
by Rig Vedic Aryans

2) Trade was conducted on barter system
3) Copper coins called nishka were used as
media of exchange in large transactions.

Which ofthe above statements is/ are incor-

rect.
1) 1, only 2)1,and 3
3)1land 2 4)1,and 3

e:o?%ogcs s Hbod & (od (BEede
HBMBoLos?
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160.

161.

1) aao?%(sé 88gen BRIV GIBPACNIEY
DENH0H eTeTren BY)

2) 589 8B dedost ms%&ego 506535%{5&3&0&
3) A3k @ 2enHet TR PEBed Bl ST SN
e Bwlalvileloy éé(ﬁﬁﬂoémcsgo;a.

2 R6Eows® b $85°%

1) 1,530 2) 2,580%0 3

3) 1, SHdaso 2 4) 1, Hdas» 3

What was were the fundamental differnce (s)
in the philosophies of Lokayatas and Ajivikas.
1) Ajivikas believed in fatalism, whereas
lokayatas did not.

2) Ajivikas noted that there are no Universal
laws, whereas Lokayatas believed certain fun-
damental laws existed.

Which ofthe above is / are correct.

1) 1, only 2)2, only

3)1,and 2 4) None of the above
Soeainden £00» wddte Saxed® (PN
Boeen DH?

DeddSen (Frerods ) HERoTE. wond
Steecsneen Sé(g?ooéé%cﬁa.

2) FBYBE Sepen I 0ddBewn HYOTD
wond seander §Q) (@S Bepen &
TN DFR0TD.
1) 1,583

3) 1, SHdaso 2

2) 2,5m(&D

4) 23D
Consider the following abut Ashoka's
Dhamma.

1) It contained the ideal ofa 'welfare state'.
2) It advocated tolerance among all the reli-
gious sects.

3) It banned punishment of offenders and their
imprisonment.

Select the correct answer using the codes be-

low.
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162.

163.

164.

1)1 and?2 2)2and 3

3) 1 and 3 4)2, only

0859 F8o (300D & (§obd I
HBRBoBo&?

1) 16 éo‘é&ﬁa m@o RBooE), eeéo*g@& EOA &ob.
2) 38 o) Here HF ST JedRok.
3) ab Jpe BEH HdAH O Beo BEH
V080D

8% S°Fo &1BrA0D IS JHTEETER)
DoHE 8.

1) 1,5080%0 2

3) 1 Hdas» 3

2) 2, Hdas» 3

4) 2, SrEB

Who among the following made very signifi-
cant contributions in finding the exact value
of = (p1).

1) Aryabhatta and Madhava

2) Bhaskaracharya

3) Budhayana

4) Gyandev and Aryabhatta

Bob BS® JSSH 7 () B0E) PNEIS
Dendd EdfiPSKos® arere 008500 DSIPsPTeRY
©0BOTPS?

1) e98gesy 08050 S5

2) epvé&ovméeg

3) enEecHI

4) @;36&35 0B @6?325%

In Indian history, the term' Apana" is referred

to.

1) Guilds 2) Shopkeepers

3) Artisans 4) Chief merchant
PSSR E SOES® ‘oo’ oI HSo HAD
QdrD008?

1) ﬁeg) 2) Bosreateden

3) SPlBgeseden 4) (B aegard
Which of'the following dynasties do not be-
long to Medieval India.

1) Western Ganga Dynasty
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165.

166.

167.

2) Kakatiya Kingdown
3) Rashtrakuta Dynasty
4) Nanda Dynasty

Bod @ Tradodeen $0¢55a8ne S ST I8
BoOID 5°5H?

1) 53y Kore Tresdodo

2) se8&0% TPe350

3) m@ Eé) Tresdodo

4) o0& orazdobo
Which of the following dynasties do not form
a part of the delhi sultanate.

1) Khilji 2) Lodi

3) Mamluk 4) Tomara

o8 8 O oresSodo &9 grifo sotH?
1) 99 2) 8%

3) SospE 1) &5

Which of these languages was popularly
known as Dakshini in Medieval India.

1) Telugu 2) Urdu

3) kannada 4) Classical Sanskrit

Soggasnr PESRE0S® & (Bod grRed® A6
Sgge @ B2 Bodod?

1) Benid 2) 663;

3) 8 4) roldecd doyso
Consider the following about the stone chariot
at vittala Temple, Hampi.

1) It is made of granite.

2) An image of Garuda was originally en-
shrined with in its sanctum

3) It is a monolithic structure

4) Its base plat form is carved with mythical
battle scenes

5) Two horses are positioned before the
chariot as if they are pulling it.

Choose the correct answer using the codes.

27

168.

169.

1)2,3and 5 2)1,2,3and 4
3)1,2,and 4 4) 1,3 and 5

FOe RO Ao Barerc0 ?,Sig &) 8o HHdod
8od A $8890508?

1) 88 [PR5E Scied Boha&od.

2) 28 ﬁéa)ﬁ)&ésa’ao BD&Qosadod.

3) 8288 o‘S;aig éi&&g@m FPoeRE0S® Dp&0d.
4) 82 B9 aPeS aro FPoBE g éﬁ)&émmés
38) a8ob.

5) Bo Mloren Swoh Godad T o
IHEHERT GIOD.
1) 2, 3 03w 5

3) 1, 2, SHBc%w 5

2) 1, 2, 3 &bdosw 4
4) 1, 3, Hdas» 5
Which of'the following were not advocated
by the Bhakti movement.

1) There is God in every human being.

2) Annihilation ofthe age-old caste system

3) Conceptual erudition.

Choose the correct answer using the codes
below.

1) 1,and 2 only 2)1,and 3

3)2and 3 4) 3, only

8 o agor Sob areSt 6
$QoSwtdH?

1) 585000850 DD

2) oTOMT SN Ho HHY AETYOD
3) %0grdE Frodso
1) 1, S08cs» 2

3) 2,080 3

2) 1, Hdasw 3
4) 1, 5Hdasw 4
The Governor- General who followed a spir-

ited 'Forward' policy towards Afghanistan

was.
1) Minto 2) Dufferin
3) Elgin 4) Lytton

FBE DereQ) B @d0oDS HSES
2358S?
1) oest 2) B&S
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170.

171.

3) 925 4) 8%5

With reference to the Mahalwari system, con-
sider the following statements.

1) Holt Mckenzie was associated with the
conception of this system.

2) Under the system, ryots paid a variable
sum to the zamindars, who then paid to the
British.

3) A field was a basic unit of revenue assess-
ment.

Select the correct answer using the codes be-
low.

1) 1, only 2)2and 3
3)1,and 3 4) 1 and 2
Eéooﬁ‘f’eﬁtgé zééé(géo JSomofod & (8od
(D8eS0D HoKBoBSod?

1) g HBod G HHY Boog) geDIE°
Joz050 BOA I

2) 25&‘56@65 BASe omePn HOAW w0d
S0z BéS o8 DYoL

3) S &R0 Tl TwE) BPEE 0BT B
1) 1,530 2) 2, HBckw 3

3) 1,803 4) 1, SHdaso 2
Consider the following about prarthana sama;.
1) It was established in 1867 in Bombay.

2) Its primary objective was to promote In-
dian spirituality to the west.

3) Its leaders condemned rituals and super-
stitions of orthodox Hinduism.

Select the correct answer using the codes be-
low.

1)1 and 2 2)2and 3

3) 1, only 4) All of the above

@'f’ccfpé SSreso 080D & (od &
HBMBoLos?
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172.

173.

1) 98 18678° SPoerons® 353)01‘533&0&.

2) gr8&c%H eém?gé’éééé:é) H3yo Bced E{nylele)
Sohko B (Hed oFs0.

3) P TPoHBen JT°ES ol Sveo cﬁ»é&
e3TPTPeD SNBSS HoTedd 26253@5@@263 PoBowH
1) 1, S08c5» 2 2) 2 SBcs» 3

3) 1,578 4) 2HYSE
Consider the following statements regarding
modern Indian painting.

1) Bengal school was initiated by A
banindranath Tagore.

2) The Bengal school tried to revive india's
traditional art within a nationalistic format.

3) Its greatest exponents did not believe in
art manners or conformity to any system tra-
ditional or foreign.

Which of'the statements given above is / are

correct.
1) 1, only 2)2and 3
3) 3, only 4) All the above

85008 grs8oH DonoBohd $o2060D (§obd
(D8eS0d HoKBoBSod?

1) ®2do(E*E oorrsd Borrd &oEFee
(BodoSadod.

2) BorrS PETe PESRE rolHdEead E¥H
FH eeée)gé’s DPBEBoSTRAS (HAD)0D0b.
3) o PR rarosre BF HHowgisen Soo
FoPredh Soe B SN whorbesorr e
folnt™)

28 ad)d EHood® d& J[X6?

1) 1,583 2) 2, S8k 3

3) 3,5m(B 4) 2HYSE

The Round Table Conference was organised
to

1) Discuss a future constitution for India.

2) Discuss the implementation of a dominion

status for India.
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Which ofthe above is / are correct.

3) wdirs 4) 238

1)1, only 2)2, only ) @d@;&m ) BRI
. ing the reign of salarjung-1, the vill

3)1and2 4) None of the above 177. During the reign of salarjung-1, the villages

which fetched constant taxes, were known
POk SenS SHrSE0d Vo QDEBroTe8>?
1) PSS 25DH5EY TowRgorTR) SO0 e
2) FPESBTI8 By JVT wen HOoD 1) Peshkash 2) Inam lands
SQ)ohers 3) ljara 4) Sarbastas

-, =S, - “ 2
B8 DO 6 26 KPR Ferbof-1 ress® ([rdrest JBorr Hiped

D 1, S 2) 2,57 Simmen B0t DBootrE?
3) 1, So8c5» 2 4) 23D 1) 305 2) BErosEEneD

174. In the erstwhile Hyderabad Presidency, 3) mEoe 4) S5y
Godavaririver entered, into presidencyin. | 178 Nisa, an organization worked against for
1) Nasik Triambakeshwar which of the following social evil.
2) Kandakurthi 1) Jogini 2) Devadasi
3) Aurangabad (Pulthamba) 3)Bonded Labour  4) Animal sacrifice
4) Nanded “QF” I éoé od &S® 328 zéegé’éééoﬁ"
FrE) rsTeEers (RRBYE Foesd 56 Bod $Tob?
(FroBostd (HE80D0s? 1) £5A2 2) SR
1) I°RE (BohoasSds 2) osHy 3) eroRE Sed 4) 23029
3) Borrerd (Frezon) 4) o8 179. Kodavatancha Jathara, is associated with

175. After 1853, the Raichur district was part of which of the following district.

which of the following subha of Hyderabad

1) Warangal 2) Karimnagar
presidency. 3) Nizambad 4) Medak
1) Aurngabad 2) Gulshanabad SEB00E @SS O Bepth BoBBE?
3) Osmanabad 4) Berar 1) $80KS 2) 8805156
1853 &S&are oodhSrs 8er rdorerd 3) Jerdrers 4) S8
RRBYSE™ 8ob g’ grifore eob? 180. During the salarjung-1 reign, the function of
1) EorerG 2) ;’%M‘ﬁ Jamiat-i-zilladari ?
3) eRrers 4 &
) e ) B 1) Dispute resolution
176. The reforms of Bahaman-cha-mubaraw was
2) Law and order
not associated with. -
3) Survey of statistics
1 tubshahi 2) Bahamanis
) Quitubshahis ) 4) District administration
3) Asafjahi 4)N fthe ab
) Asafjahis ) None of the above FrerBaofi-1 FodSt, e:DirsE- o - Bep 8
DEPHFS-T -~ Swertre D), Hob)EKen G $085?
A5B&° éoﬁa;otﬁo EOA Go8H? 1) Dawds é&ﬁf’&éo 2) e ©0& @ég
1) S&eraren 2) @5EHe 3) Kesrosee éé(g 4) BPHOTOD

UNIQUE STUDY CIRCLE 29 CHAITANYAPURI, HYDERABAD



UNIQUE STUDY CIRCLE, CHAITANYAPURI, HYDERABAD. Ph: 9492459622

UNIQUE STUDY CIRCLE

181.

182.

183.

184.

What is the name of the initiative launched by
India to bring back indians stranded in Uk
raine.

1) Operation Ganga 2) Operation kiev

3) Operation Moscor 4) Operatio Bharat

GBS K owd grEdaiven &86A
SDHTHTIE PSRBT (FPE0DoDS SHBRS
d6?

1) 85BKS Kore
3) eBHS “rR55

2) e585S &5

4) S5BRS 88
Which country launched a rocket to place
record 22 satellites in space.

1) UAE 2) USA

3) China 4) Russia

SEgey 3;0;363‘3 22 &SP @osdgos®
0S8 TR & B¥0 (BRrA0D0H?

1) UAE 2) USA

3) g° 4) 8ax5

Which Union Ministry launched the TDEX"
platform.

1) Ministry of Education

2) Ministry of Tourism

3) Ministry of Defence

4) Ministry of Law and Justice

9 Bol& Ho0@35 w 'TDEX" % (@r8ofodot?
1) dezg Eéao@’ée‘és 3o

2) Kamegéoé Eéao@’ae‘és 3°g

3) B%ea 5630@’36(5 3o

4) FJ"?SO‘sD SoB3» iﬁg aﬁao@’ae‘% 3°g

What is the new motto of National Commis-
sion for protection of child Rights (NCPCR).
1) Support to children

2) Bhavishyo Rakshati Rakshit

3) All- round protections of child rights

4) Dharmo Rakshati Rakshit
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185.

186.

187.

eree PEne HOSEE &%0 280%H 8RS
(NCPCR) ao¥) 88 daeo ad&?

1) oo esoe 2) FORES S
3) erow FEnw 88 4) téSséééé’é BES85
'Whitely Gold Award'is presented to people
who contribute in which field.

1) Literature

2) Sports and Games

3) Social Serivce

4) Wildlife and Bio-diversity conservation
“BE 7S 08 O Soros® BeEBRY) HKeH
©OBEIE.

1) 3"37%%0

2) Een L8050 etoen

3) PSR DD

4) SXgEreaven B B S5 HBBBKes
'World of Advance Virtual experience
(WAVE)' is an initiative of which indian pub-
lic sector bank.

1) Canara Bank

2) Indian Bank

3) Bank of Baroda

4) Punjab National Bank

38 0§ 0TS $W)HS 25)H0S) (WAVE)'
030 d grE8H HHE 526 ergo8 D) 8D
1) 85oe 83”505 2) 08098 8J'°§O§

3) 8J'°§O§ w5 8w 4) H0eP5 DRSS a;fgo%
Which Union ministry is associated with the
pilot phase of the open network for digital
commerce (ONDC).

1) Ministry of commerce and industry

2) Ministry of MSME

3) Ministry of Home Affairs

4) Ministry of Electronics and IT

9 SolB Ho@%y e (ONDC) a8 3¢558)
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$6 &B0S s2d)H Dowmododob? change
1) AR o5 =008 208 aoté@
2) IR «5 MSME

3) A ©F TS DY)

4) 2] 85 oERE Hdas IT

3) Fodd and Agricultural organisation
4) World wide fund for nature
(%0 ©ed 3368 (SOFO) £ O éoé ESlablnlJ)

S908?
188. Which institution releases the 'Report on cur- 1§
rency and finance (RCF). 2) 505586, @R HBKH TETHe Doy
1) Ministry of Finance e

3) 6 B KA H0F
4) 358 3E o8 5 335

2) Reserve Bank of India

3) National payment corporation of India

4) NITI Aayog

£ SO P B WL (RCF) & %0y

192. Harshada sharad garud, who was seen in the

news, is associated with which sports.

Do Bxos? 1) Boxing 2) Weight-lifting
1) 8% 253_;@6_% g 3) Squash 4) Hockey
2) Busly 508 f molake TEE EQ0DS ST 66 Kok O ke’
3) 3535 Does 9853&5 a9 0805 ¥omoto R eTmh?
4) 8 s&@rh 1) ar8)off 2) Sone OQoh

189. What is the rank of India in global production 3) R 4) 58
of coal. 193. Which start-up recently became the 100th
1) First 2) Second unicorn of India .
3) Fourth 4) Tenth 1) Fractal 2) Games 24 x7
©B08 &) 68)S° rEsEI0 o508 Jod? 3) Open 4) Livspace
1) Swesds 2) Botiss o508 D 55 adse gros8dos® 1008 chrdsGyT
3) 0 4) 85 $808?

190. Which state launched the 'Mukhyamantri 1) @55 2) wooen 24 x 7
Vitaan Yojna' Programme . 3) &S 4) BEYS
1) Odisha 2) Chhattisgarh 194. "Raising and Accelerating MSME Perfor-
3) West Bengal 4) Madhya Pradesh mance" (RAMP) is supported by which glo-
“Snggo0[@ DS Trress” SeEERRY @ ToPo bal institution.
(rEodoDob? 1) International Monetary Fund
1) abe 2) S8%H8 2) World Bank
3) H@yoBorrS 4) 25365?3@635 3) UNICEF

191. Which organisation releases the state of the 4) World Economic Forum
world's forests (SOFO) Report. 520f @08 osrEedBof MSME 2ommS)
) NABARD 5755) (RAMP) & O s adRumgss 55
2) Ministry of Environment, forst and climate 5:5306?
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195.

196.

197.

198.

1) @oécgésaoﬁo @25?3(‘0@

2) (530 ergosH

3) UNICEF

4) 55§ DETWE PBH

The Lok sabha passed a bill to merge three

municipal corporations of which city into a

single entity.
1) Mumbai 2) Delhi
3) Kolkata 4) Chennai

D JK808%D Kool én@géef 985620“1@6) 28
éoé@m Do THoHE  SE S ASVE
IS ViIaTotAleTAYS

1) Ewoerom 2) &8
3) S8 4) 3
Balasantula is a.

1) Dance form

2) Caste group

3) Child Artists in telangana

4) River in adilabad

2PON0H® WDIH?

1) e BrHo 2) o Eétgo

3) Boorred® are Sénen 4) oderersSt 56
Kaloji Narayana Rao was conferred with .
1) Padma sri 2) Padma Bhushan
3) Padma vibhushan 4) Kala prapurna
5888 roecdhes ToHS S @awég

1) 558 2) HERPES

3) HEVHE 4) SeHg

On which date, the "Telangana Saadhana
samithi" was merged with "Telangana Raashtra
samiti"?

1) 2002 August 13
3) 2002 August 15

2) 2002 August 11
4) 2002 August 14

32

199.

200.

D BOS “Boorren PGS W& Beorres ovéjq
288 9d$6?
1) 2002 e:sﬁ“@w 13 2) 2002 e:sﬁ“@w 11
3) 2002 e:sﬁ“@w 15 4) 2002 e:sﬁ“@w 14
Which is the famous novel written by
Ampashayya Naveen.

1) Kala Rekhalu 2) Bhumi Puthrudu
3) Salaam Hyderabad 4) Jeevana Samaram
©0HI0%g $HST 5DoS8S By SHo 6?
2) & HF

4) £55 dBo

1) seeOgen

3) Jdero rTrersd
Who was the first president of the Nizam
Rashtra jana sangham.

1) KV Ranga Reddy

2) M. Hanumantha Rao

3) A. Veerabhadra Rao

4) S.Pratapa Reddy

Qero O?é 2l Bogho I eEEId HHB?
1) KV Sorrdé 2)M. Seodrosoed
3) A. D855 4) S.@@véaé

Aok ok
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